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Topic:- Physics

1) A man increases the speed of his car from 10m/s to 20 m/s on level road. The ratio of the final kinetic energy to
initial kinetic energy is: /

AT TSch W Ueh (U ST hY AT ahl IgTehe 10 HY./&. § 20 /3. ohxar g1 sifaw fias o a1 RfYres fiast S
Y 37U g

1.
2.2:1
3.1:2
4. 4:1

Coﬂré‘%:t Answer :-

.

1

2) A body of mass 10 kg is moved on a horizontal surface with a velocity of 5m/s. If the mass is doubled, then the
frictional force will: /

10fimr G e Daem e 5h. g3 3 @ Pae gag w T o 21 Be A ST ) STTell & a5 of e g
1. 3ATeIT BT SITge

2. be halved /&FTT &1 SITQM

3. bedgiblathe ; T &

4, | AR AT B @

CoReePRifsfoyp times
. [N B Srem
""" B dOU b ed T e
3) The passenger falls forward when a driver of a bus suddenly applies the brakes because of : /
TS 9 T Y 8 <TSaR STIeh o oIl & f AT ST Y SR TR STt & grehT T 8
1. high speed of the bus / SHehIdSTeTer
2. inertia of rest / fRmeRSTg
3. inertia of motion / frdeTsTs

4 high momentum of the bus / THHTS HAT

Correct Answer :-
* inertia of motion / i a1 STg

4) Which among the following can become negative? /
fAfa@d o @ &9 1 o & 99 JohdT & ?
1. Speed / 9Tt

2. Mass/ THH



3. Velocity / am

4. Distance /| &

Correct Answer :-
* Velocity / am

5) Work done by the friction is : /
gy U R’ o T em § .

1. | 3=id

2. fvigpitge | BT

3. | RO &

4 Negaiivle

Correct Answer :-

. [ FOT &

6) The lateral displacement of light beam which is passing through a glass slab depends: /

T MU R R HI arugsi arar & g o g am fanyaar g

1. only on the angle of incidence. ZhaeT3MUd-TehIUTAR |

2. only on the thickness of the glass slab.dhael 9T ShIAICEUR |

3. on both the angle of incidence and the thickness of the glass slatgaa=T &ioT 3R TG T I Flerg ST (iR

4. on critical angle. / fde @Y1 TR

Correct Answer :-

. on both the angle of incidence and the thickness of the glass slalad= sior 3R @ U F AerE a1 £ R|

7) Sound waves travel in the form of : /

faaar g9 un ATl §

1. Only compressions /haergdiegd

2. Only crests /hafeiRER

3. Compressions & Rarefactions¥tdies iR fiaRe
4. Crests & Troughs /fReR 3fR gy

Correct Answer :-

. Compressions & Rarefactions#itigd 3R fiere

8) Who among the following produces ultrasound? /

AfdEdn 9N ARSI HRara?

1. Pigeon / PR
2. | SifermT

3. Dolphin /&1t

4. Rlapleatos /TSI )T 81 d=1(

Correct Answer :-



. | Etfere
""" 10,10 354 U
9) Ifasound wave of frequency 3300 Hz is propagated with a speed of 330 m/s, then its wave length is: /
fa 3300 g o7 onfg &Y 71 a1 330 #Ht./2. H g @ T 39 Y ot &, A TR aw1e 8
1. 10m / 104,
2. 100m/s / 1007./8.
3.0.01m/s / 0.017 /3.

4.0.1m /0.1,

Correct Answer :-

e 0.1m /0.1t

10) Which one of the following statements is CORRECT about magnitude of displacement? /
3 et @aw Qe 1 Fufg aroAdy UhERT T 98

?

1. [ag <L @l gt Hend

2. It cannot be zero. | T8 a8 & 1S g @ A I7 IHeh SRR g1 Fehell B
3 It pandvelesq shhtoaheatistindhe distage oAl 70 &1 7S g & sk TE g 81

* ltis greater than the distance travelled. /T8aaNTS & & fafereh gidT &1

Correct Answer :-

. / a8 a9 I T g & R T IAH ISR & AhaT &
“ It can beTess than orequal to the distance travelled. -7 777777777777 mmm s m s e
11) A person runs with a speed of 5m/s for 2 minute?\and then witha sp%ed of 4m/s for one minute. His average speed is:/
U fmge & Rregd D./8. Sl T I TeAdT € SR 3R Yeh fHe oh 11:e7Q 4 HI/ 9. ohl <ITel & Tef el & STt S et
g:
L | A
2.
, 99/ 9.g¥H
4 45m/s/ 45

4.67m/s | 4678

Correct Answer :-

. ot /&

12) In a uniform motion, the speed-time graph is: /
Uh gaE N9 7, I19-999 Th el g ;
1. | R <1 <&t uen el

2. A straight line going dpwyHU%sT %1 U el Far
3. | T 37 3 SR Ua deft T

4,
A stirighyclinerauphed tas /fSHTHB O Ih 6T Y d

Correct Answer :-

. | TG 37 & MR Tep e} Far

13) A scalar quantity has: /



uep 3t Rir 7 gar @
1 | Faet O T AR g fifasr flgsm gt
2. dingeiiionewiyly Bwh&$@8Ti ic direction
3. /@ AT SR g &=t
4. both magnitude and direction /7 a9 aATor 3R 7 Y flraam
Coﬂgwl&ﬁsmggr;_itude nor direction
. | Faet O 3AToT e g ffder fgam 8t
””” magnitude only DUt Mo SPeCt 10 e Tt O~ 777777777777

14) A boy runs from one end to other end of a semicircular track with radius 140 m. His displacement is : /
SRISPT 40 4. T3 379 g dThR UY & T (:8R @ gER TR de dgar 81 39 flxg aro 8
1.280 m/ 280
2.180 m/ 186 .
3.140m/ 140 .
4. 493.6m / 493.6 A

Correct Answer :-

. 280 m /280 .

15) A body of mass 2.5 kg which is at rest acquires a speed of 10 m/s when pushed forward. The impulse given is: /
2.5 1 o1 Tap e &Y farmy R & o it ok o &7 33 R 10 /A &t fia faier T orar &1 39T AT gh ¢

1.

2.2.50 Ns

3.0.25Ns

4. 250 Ns

coreNAnswer :-

16) A man travels 16 m in 10s and comes back to the starting point in 5s. The respective distance travelled and his
displacementis: /

TF 1097 16 7. v T e 8 i .7 Ry fidg R Ay e &1 Fachag &Y 78 o ofk e g umo 8

L | g & 7 g ;. R Ry um= = 16 .
2. Distance travelled = 16 m and displacement = 16 T T - 16 R A g - o
3. Distance travelled = 16 m and displacement = 0 m/ T EIR ij =16 3R R ume = o

4. Distancesttagehdled 33 A dishilgokmententis by T B TS g8 —=gpf. ok g umoH= 16

Correct Answer :-

17) A man went to a trip. When he started from his house, the odometer of his car reads 1500 km and the reading was
1860 km when he reached back home. If he took 1 hour for the journey, then what is the average velocity? /

Uk HUT e T O 98 U TR & TaAT, dt ITh! R & GUAT (siEiHteR) 7 15001 aeft. R oft ofk 5@ a8
199 R O =7 ot [T 18601 . off| Re ag a1 g 1 g dar @, ot sitga a 18 2
1. /M3

600 m/s 600 /



2. [
3.0m/s 0 #LE
4. 6Guydé &Y) T/
Correct Answer :-
. A
------ L

18) Potential energy and kinetic energy are types of : /

fras e 3R firdast $o 39dh wRE

1. 13T FsT
2. Bhermarasegyy /TSI

3 Mechanical energy /’Tﬁ B

4. .
Magnetic energy /991 $o

Correct Answer :-

19) 10 joule is equal to: /

10 SIT 5¥ch SRR §idT &:
1.
2 10 kg m/s2
1N/m
3.
10 Nm2
4.

10 Nm
Correct Answer :-

20) What is the mass of an object whose weight is 49 N? /
Iga g AW ar ghm ST aor 49NE?

1. /I f&T

2. 49kg 4571

3.5kg 51

4.5 5 .1

49g/49
Correct Answer :-

. ; forwT

------ B

21) Aforce of 10 N is acting on an object. The object displaces through 5 m in the direction of force. The work done is : /

10N T I Yoh T ' UR 1T e TgT &1 T g et ohl fLaaam | s ®t 3 fRArud gar &1 e mn @ 8

2.10 Nm
3.50 Nm
4.2 Nm

5 Nm



Correct Answer :-

22) The atmosphere is held to earth by : /
rgHEd, Y18 58% RT &7 &1 &
1. ELEC

2. GowiitatiapalbofdR a1

3 0zone layer /STISTIFURC

4, .
Magnetic force /351d et

Correct Answer :-

23) The vibrations or pressure variations inside inner ear are converted to electrical signals by : /
SR BT (3R 3R) & MR FuA a1 g9 @Y 39¢ RIfawet F gaay uRaagas :
1. @O E  (hifheram)
2. Gpphdesdror firet (o
3 Tympanic membrane /0T 9eg ({12 & 93
* anvil ) Fersefae )
Correct Answer :-
. /UG (hifchera)
""" BRI ™ T
24) Which one of the following statements is correct about wave? /
AfeEdd e T @ FF T FIRT TE 8 ”
1. In a wave energy is transferred but not matter. / Teh a&TH , ST YHid I gicll 8, fetep g
2. In a wave neither matter nor energy is transferred. /e @ H , T d 3R 7 gl Sl AHId I it 81
3- In a wave matter is transferred but not energy. / G G@TH,  UTid 3a giar 8, ot Fom &

*Ina wave both matter and energy are transferred. /Th a@T®, 3R ST &l < A GG |

Correct Answer :-

. Inawave, energy is transferred but not matter./ Ges a@ 5, Soll Ui W gl &, [ i
25) What is the shape of the Milky Way galaxy? /

g Oger sremRri (7 6 3 At oY) a1 s 872

1. Circular / TR

2. Elliptical / §&r g dehR

3. Spiral / Ru &

4. Regular / 9T a

Correct Answer :-

. Spiral /R«



26) ‘P’ is a hotel on top of a mountain peak of 4000 m height from the sea level. ‘Q is a house in the Japanese coast.
‘R’ is at the bottom of a mine, 3000 m below the surface of Earth. What will be the gravitational pull of P, Q and R? /

P’ d ¥ 4000 Hex FHamd A ug g f:3RaR & JR Uk gied &1 Q, SUTH 9¢ 7 Tk BR g1 ‘R’ g 1 I Adg & 3000 o A=
WA HdAWREIP, Q IRR & T T HY uT 1812

1. The gravitational pull will be the same at P, Q and R. /T Foreny UTP, Q3R RURGHENT
2. The gravitational pull at P and R will be more than that at Q. #{RR ] Yy ur , Q Afaeres ghmi
3. The gravitational pull at P and R will be less than that at Q.3fR Ruyg Ty o, QA g

4. The gravitational pull at R will be more than that at Q, which will be more than that at ﬁ?ﬂﬁq Hyur Q3 fats g, Y flap &
faferen g

Correct Answer :-

« The gravitational pull at P and R will be less than that at Q.30 RWR T Ta &Y o1, Q& & gl

27) In a museum, a boy stands in front of a mirror and finds that his image has a big head, normal body and small legs. This is because
the mirror is made up of three different mirrors arranged from the top to bo om as: /

QEFHE'IFRIH Qe TSehl & U1 & T @1 gia g 3R 3 ¢ ek 3uah o a1 f:aR 931 8 ek AR § ok Rsie
21 Qr 3Ry 12 ag 2u o, i oot U off <1 PiieeR s @ S SR AT W FR 9 WA E

1. Plane mirror, concave mirror, convex mirror / Hdel &4 U1, 37dde U U, 3 del U U7
2. Concave mirror, convex mirror, plane mirror / 3Tdde g4 UT, 3 deT U UT, A g4 U7
3. Concave mirror, plane mirror, convex mirror / 3ddel &4 UT, HdT &4 U1, 3 deT §U U1

4. Convex mirror, concave mirror, plane mirror / 3 dd &9 UI, 3ddd &4 UT, HAA &J 0T

Correct Answer :-

« Concave mirror, plane mirror, convex mirro#f&dd U U, §Hd &Y UT, I do U U7

28) Which of the following is the unit of accelera on? /

Afaeaq & U iF e 2

?
1. cm/s / 9./,
2. km/h / fore).reeT

3, m/st/ #Ha®

4 mfs | #HIE,

Correct Answer :-

mfs? | B

.

29) A boy travels a distance of 16 m from X to Y and then moves a distance of 12 m at right angles to XY. What are the distance
travelled and the displacement? /

ThashI XY dh  l6Hir A aaaarg R it XY H orRor R gear 12 Hiex H ot aa awar 81 7 & wit g
dRfguma 18 5

1. Distance=28 m, Displacement=20 m / &f =28, f oo = 20 7.
2. Distance=28 m, Displacement= Zero/ &4 = 287#f}., 4 amg=r = 0 7.
3. Distance=4 m, Displacement= 28 m /E;\ﬁ =4t fg 9o = 28 .

4. Distance=20 m, Displacement= 28 m / g = 20#., fJ o = 28 =

Correct Answer :-



« Distance=28 m, Displacement= 20 m /g =28+, f& aru = 20+,

30) At night, air blows from the colder land to warmer sea. This is known as : /
T H g1 S S Y § T T FI SR T 81 T HEd 8

1. Air breeze /gaTaHR

2. Land breeze /fAe+R

3. Sea breeze /9 g1 R

4 None of the above BuRY sigefig]

Correct Answer :-

. Land breeze /R R

31) If aradioactive element reduces to 25% of its initial mass in 1000 years, then its half lifeis ______ ./

e g Regift a a ,1000aY 7, 307 RfH A &1 25% 16 gl ST 8, o S8 3 3y -1
1, 100 years / 1009w

2. 600 years / 600 %

3. 500 years / 500aw

4 200 years / 2009y

Correct Answer :-

« 500 years /50099

32) A whistling engine is approaching a stationary observer with a velocity of 110 m/s. The velocity of sound is 330 m/s. The ratio of
frequencies as heard by observer at the time of approaching and passing of engine is: /

Teh UR o o TS Qb e Sofrar 31 919 110 Ht./F. & 3 & 31 g7 &1 41 o1 3 330 H/R, &1 g9 & oA ofR
TE G T & R it onfy af iR g &

1.3:6

2.4:1

3.4:3

4.2:1

Correct Answer :-

. 2:1

33) When sound travels through air, the air particles ___ ./

T fTgaTdh A1 gHS O TeRRdlg digarehur, |

1. do not vibrate. FU-gichedg|

2. vibrate along the direction of wave propagatiorERgTaaRuT hi firaam & 91y gian g1
3- vibrate but not in any fixed direction u-eniag fAepepfaiad flxegm @ 78l iaRd g |

4 vibrate perpendicular to the direction of wave propagatioB¥H=IROT cht {2221 & ead chu hid g |

Correct Answer :-

. vibrate along the direction of wave propagatiorErt, T =0T I {2 & 1 gar &

gcollegedunia;



34) A convex mirror has a focal length ‘f” and it can produce an image thatis 1/n  th the sjze of the object. What will be the distance
of the object? /

Ueh 3 & &U UT T ThichelTeheuT ' & R a8 g g & SRR & 1/n R sraera 1 3 g B g TR
1. n/v

2. f/n

3. f(n-1)

4. -f (n-1)

Correct Answer :-

. f(n-1)

35) A proton, a deuteron and an %particle having the same kinetic energy enter a uniform magnetic field perpendicularly. The
radii of their circular paths are in the ratio v

TE IS ST a1 b T 23057 3R Ueh 0T Tohaai Gl A oidad U9 A Rd § | S g ThR T
feY TepTarguTa 8l

1. 1:2:1

36) A vector multiplied by a scalar will be N

QERTITGANR UM TRYHTAGT g

1. a vector or a scalar. e fger 372raT Ueh fatger

2. always a scalar. /AR Ueh fafasr

3. always another vector in the same direction of the original vector. /
R RV (ar faaes) Riey & gam e 7 v o R

4, always another vector in the opposite direction of the original vector. /
U Rk (a1 fage) Rer &t fauda e w o R

Correct Answer :-
» always another vector in the same direction of the original vector. /

g RFeh (ar faae) e & gam e 7w o fR{esr

37) A particle having a charge of 15 uC is brought from infinity to a point P by doing a work of 3.0 mJ. The potential at point P
is v

3.0mJ RT & &k 15 pC AT & Yah HUT hl 31F T § Gap [lrdg P AT st g1 fusg P flzawa )
1.100 V
2.250V
3.200V

4.300V



Correct Answer :-

.« 200V

38) A particle of mass m strikes a wall normally with a velocity v and then its velocity is reversed. The change in momentum
is v

m L G A, S AT AR IR AR HHTaT G [T o7 <
|

1. -mv
2. -2mv

3. mv

4. zero

Correct Answer :-
. -2mv

39) The magnitude of resultant of two vectors is minimum when the angle between them is v

a@zaﬁzﬁrcrwrrﬂ’rtr Wam B
1 45°

2. 07

3. 180°

g, 30°

Correct Answer :-

180°

.

40) A box contains equal molecules of oxygen and hydrogen and helium. If a fine hole is made in the box, then the gas that will leak
more rapidly is v

Th S A TS SR 8158 o iR fEeram & sRmeR o a5 1 Re T 7 uah g B¢ favar Siran &, &t g A9 it
faterer Y a1 @ A anft, 2l
1. Hydrogen only/mgl?gg\f\_ﬂ'—l

2. All at the same rate / Gff TOF R R
3. Helium only / Shaet fgleram

4. Oxygen only / haet 31 o

Correct Answer :-

.« Hydrogen only /e €188 Toi9

41) Same gas is filled in two containers of same volume, same temperature and with pressure of ratio 1:2. The ratio of their rms
speeds is: /

TH ST, T AT 3R SRUTT 1:2 & &a1d & I &l UT 1 37 Yeb T 119 90 TS| ITchT STRYAYY ATedl el SRUTd &:
1.1:2
2.2:1
3.1:4



4. 1:1

Correct Answer :-

42) Which one of the following is NOT applicable for a moving coil galvanometer in order to increase the current sensitivity? /
4T Gf Teat agM &g U I § Seft g fd freet Aeraiofiex & fverg Rlafa @a 7 9 & 130y el w2

1. Increasing the torsional constant of the wireRehmRIScIA(Td URIEA g

2. Increasing the area of the coilgseiih A g

3- Increase the magnetic field @j,a'cﬁtr\ "y
4 Increase number of turns of the coilghgeiiheTaIRI ™ g

Correct Answer :-

« Increasing the torsional constant of the wirdiR & RIS (&9 e) Riw A g

43) An electrical appliance draws 4A from a 230 V supply line. When the same appliance is connected to 110 V, the amount of
current drawn is v

T frag gq @reR30 V SNfid g & 4A EiEar g SAIM A A 110V SSHidare dieud RRAINTSaRTE
qT 2l

1. 1.8 A
2.15A
3.1.6 A

4.191A

Correct Answer :-

« 191A

44) The current sensitivity of a moving coil galvanometer increases by 20% when its resistance increases by a factor 2 while
keeping the number of turns constant. The voltage sensitivity changes by v

Tk fasfier g soft F ivfiex & amr gfrgar , 20% Tk §¢ STt g oje f aRter gATdichl TR 2R I@I Y R dch 2
JeoTaTe 19t g Tgar JhY AT derdig |

1. 20%
2. 40%
3. 30%
4. 10%

Correct Answer :-

. 40%
45) The density of a solid is 8.5 g/em’. Its relative densityis___ . /
Udh B FT Tecd 8.5 MAAAT &) sHH 3mflF o=ca g

1.8.5g/cm/ 8.5 T./A .
2.85g/85 ™,

3.85/85

4 gs5cm®/ 8.5 9P



Correct Answer :-

e 85/8.5

46) The current “I"is;/

AT T &
1
IR
10 10
NVL_\—/\/\A
AV AT A TAVA VAN
10 10
IM
1V sk
3
1. 0.5A/0.5TY%R
2.4A /1 4UTR
3.0.66 A /0.66 7@
4.8A/8UTR

Correct Answer :-

« 0.66 A/0.66TRR

Two rocks each of mass 1000 kg are lying, one on Earth and the other on Moon. Ifle and Im are
their respective inertias, then: /

g oz, foeet & vl & aemen 1000 et B vE el W3R g 9ie w Ra B
e ¥ w 35F FH: T5a & &

, Ie.and I cannot be compared / le 3R I &1 Fer=r AT ¥ S Fahelr

2. le<Im
3. lE=Im

4 le=Im

Correct Answer :-

48) A solenoid of length 120 cm and radius 2.4 cm has five layers of 600 turns each. The magnetic
flux density at its centre on its axis when a steady current of 2.1 A passes through the coil is:
(take po = 411 X 107 NAZ) /

T 120 JHT oFans 3R 2.4 FAT = 1 afiaferst 9ol 600 W1 &1 Ui Wd B 39 Hal &
&% W Haehia JHfeAars Teerar a2 giel, 5T 2.1A 1 3aRadt arrEsel F garfed g &
(A AT po = 417 X 107 NAZ)
, 66X10°T
5, 44X10°T

3 22X10°T



i3
4 g88X10°T

Correct Answer :-

B6X102T

49)  The volume of 500 g sealed packet is 250 cm?. The density of water is 1 g/cm?®. Will the sealed packet sink or float

in water? /

500 I & wreae $de @ 3aad 2509 ) aeh & gae 1 WA #) Heeg Y an & 3@
ST ar e

1. The sealed packet remains suspended in water./ Hictsie Gohe urit 7 f:Feiferd g 81

2. The sealed packet sinks in water. /AiesEetche urlt @ng

3. The sealed packet floats in water. /Fﬁaﬁ?aaﬁqﬁq Rar gl

4. The sealed packet moves around the water. /?ﬁ?lﬁ?: The gt 7 IRY 3R 1T e 81

Correct Answer :-

* The sealed packet sinks in water./'\‘:ﬁm Oche Tt 7 | Sle 8l

>0) If Bohr radiusr, = 53pm, then the radius of Li™ ion in ground state, on the basis of Bohr model, will be
about sl

afg @ B 1, =53 pm &, a1 Fe=as yaen &, d7 #isd & JYUR W Li-HET &
s s aci

1.53 pm
2.3pm
3.17.7 pm

4.9 pm

Correct Answer :-
« 17.7pm

Topic:- Chemistry

1) Which compound fits into the following descriptions?

» It has an alkali metal present in it.
« One of the elements in it is a halogen.
» When heated with concentrated sulphuric acid, it gives violet vapours. /

ff e @a fgeror <& e ot an R sug 872

. 399 R UTg 3T U @ Bl

. 399 I7 AT T i § Ueh geilor gl

. Gifa T T 3 &A1Y TH A W, Tg I a1 a1 &
1. Lithium oxide/ﬁwsﬁg—g

2. Sodium iodide / FiTsTH smatsiss

3. Potassium bromide /tﬁﬁarq'q g

4. Calcium iodide /% I ITANSTES

Correct Answer :-



* Sodium iodide / IGIEREECIRICIESS

2) Iden fy the acidic salt. /
fAf e @aa & o' wrqor & veqH |

1. NaCl

NaHCOs

MaMOs
3.

Na,50,
4.

Correct Answer :-

NaHCO;

3) Iden fy the endothermic reac on. /

fAfa@aa @ 1 & amen T &

C+0yy —» COyy

1.

Najg + 3Hz s 2NHsg
2.

AgBr, Light Agy, + Bryy
3.

ZNHM;, — NE-Z;I + 3H2|;|
4.

Correct Answer :-

2NH; g

4) Iden fy the allotrope of carbon formed by hexagonal arrays placed in layers one above the other. /
TS A I 370 T UERIAA S 3 <A Qo GER & SO ! § Weehiuny wRoft RT &9 81

1. Fullerene / Gk

2. Graphite YA

3. Diamond / 8T

4. Amorphous carbon BEEGIECIEE]

Correct Answer :-

* Graphite I Ige

5) An element having atomic number between 14 and 22 has completely filled shells. Iden fy the element. /
14 3R 22 & &9 URHTY[- Aieh aTet Goh d h I I a6 R TE | 9 Ughamal

1. Neon / f3131T77 2. Argon / 3T



3. Xenon /T"‘f'—‘ﬁ;r

4. Krypton/ﬁ-} ™

Correct Answer :-

« Argon/ A

6) Chloralkali process is used for the manufacture of ./

R 9 WU e o @ gy foherar o1 & flrerd fivaman st 21
1. zinc chIoride/f\l;i'cF \I?I's;g

2. calcium phosphate / & =H i
3. chlorine / 49
4. sodium hydroxide /ﬁ@naﬁg‘raﬁ IES

Correct Answer :-

¢ sodium hydroxide / ﬁﬁgﬂng@g‘f@ﬁ ES

7) The non-metal fibres which are used to make bullet-proof vest is: /

TR TISIRSTRT TITgRte, thd Ta-HAT haTsiTdTa

1. Carbon /&I d
2. Boron / SR19
3. Sulphur /9%

4. lodine / 3MATSH

Correct Answer :-

« Boron/ R

8)  Which of the following evolves hydrogen gas when reacted with dilute nitric acid?/
TR E s AT R T 7 @8 O us a1gs o 19 aaadia?

1.Cu

3. 7n

4. Au

Correct Answer :-

9) Which of the following is a major air pollutant? /

fAfa@aq &9t gE g gus 82

1. Sulphur vapour / W al

0;
2.

MNO:

N;



Correct Answer :-

NO;

10) The substance which is responsible for the hardness of water is ./

STeTchieho RaT(heTqS IERIT UaTeT -1

1. magnesium nitrate / 8f @A A8 ©
2. magnesium oxide /ﬁﬁ?ﬂﬂxﬂ’f 38
3. calcium bicarbonate / & Y TSI A

4. calcium nitrate / & SRAATEE T

Correct Answer :-

« calcium bicarbonate / & IgH STSehId 4T

11) The vitamin which is excreted in urine by human is: /
ag frafrm s ag R deme # I a g @

1. Vitamin ¢ / fafem= ¢

2. Vitamin E / fafera

3. Vitamin K / fafem K

4. vitamin A / fafem A

Correct Answer :-

« Vitamin ¢/ fafem= C

12) What happens to the kinetic energy of the particles of matter when it is heated?/
FeRUTRITSST BT TEaTeSTISURIARITSITAT ?

1. Remains the same &9 Bt &1

2. First decreases and then increasestget gedl & iR 2R sed &1

3. Decreases / 9 STl &1

4. Increases / 91 STTal 81

Correct Answer :-

. Increases /g St 81

13) Flour in water and river water carrying mud represents a : /
A urt R A A ATy ot a7 Afwdamarg |
1. Gel /S

2. Emulsion /39 SFHUET )

3. Foam [T

4 Suspension /s

Correct Answer :-

. Suspension /fAdsT



14) Sulphur powder is mixed with iron filings and divided into two portions, X and Y. Portion X is heated and portion Y is not
heated. The gases evolved when dilute HCl is added to both respectively are: /

T USSR &l dAtg & RIS & ary 1M 7 fcpen Srar g qen @ fg O X qur v 7 fafarea e Srar g1 g @ X &t my e
ST g aut g @Y @t ™ g Cfar Srar g1 Sia @ A g HC| e Sirar § a9 f:afead g1 areht A AL g

S and H,S / S Td H,S

Hz and Dz / Hz 1'!?1-’02
2.

H:S and Hy [ HyS Ud H;
H:Sands / H:STA S

Correct Answer :-

H:S and Hy [ HyS Ud H;

15) Atomic number of magnesium is 12 and mass number is 24. Calculate the number of electrons, protons and neutrons in the ion
formed from it respectively. / AR Y GRAT T 712 JuT AF T 724 &1 599 AW 7 s w man g T4, ¢ Yerat qur gTat i
G 181 <Y IO AR |

n.=14,0,=12, n,=10
n,=10,n,=12. 0. =10
n.=10,n,=12, n.=12
n=12,n,=12,n,=12

Correct Answer :-

n.=10,n,=12,n.=12

16) A plastic comb gets charged, when dry hair is combed. This shows: /

Tah T ShehIcheSTTTARIT ST e STadaTelIchtgh 1 ehdTSITdT & | 258 ST aT &

1. Neutrons are negatively charged particles¢ THzoNf2rdIeRoTg |

2. An atom has a nucleus at the centrd:ya?quﬂﬁTcﬁ T YhfATGhgaR|
3. The existence of charged particles in matterqarel § AARTNRISE |

4 Blectrons are negatively charged particlesget T=RUTIARIdhUTE |

Correct Answer :-

« The existence of charged particles in mattergarey 7 3MfARTd hUN 3T 37 |

17) Iron granules can be separated from tea dust by: /

TR S (CHATERPUIRIGSHSh RTSTTeh! ST Tehell & :

1, Filtration A&

2. Magnetic methods AeehRra<ich

3- Distillation /3mga



4. Crystallization f> eftepzor

Correct Answer :-

« Magnetic methods e a8

18) Intermolecular force of attraction between the particles of matter decreases with an increase in: /
& hUTIch STHTRY UTehTSTARTSIeheeT 79 & qryedr|

1. Mechanical energy only Araerdif ahastt

2. Both potential energy & kinetic energy/ fasiasir SiRAITSTSST &1

3. Kinetic energy only Araetfirasrae

* Potential energy only Aract fadstaST

Correct Answer :-

« Kinetic energy only /Ahaet frdst S

19) Gases can be liquefied by: /

iR = mif afaearsaehdang

1. Applying pressure and reducing temperatur&ld A ehR 3R ATTATT TeTh
2. Applying pressure and increasing temperatur&ld TR 3R ATTH TGTeh
3. Very less pressure and high temperaturey derd g9 3R 3 dTUH=

4. Removing pressure and increasing temperatur&ls geTeh? 3R aTqaTT FgTeh

Correct Answer :-

« Applying pressure and reducing temperatur&rd TR 3R dTUH TeTh

20) Identify the “Little boy” who played a vital role during the 20th century. /
SRfreeR R TR 20t TehceTg o e e ot
1. First hydrogen bomb designed for warfareg/fehaifessRearargaress o 9|

2. First nuclear weapon dropped on NagasakATTTRIRTRIIgATIRATI @R |
3. First nuclear weapon dropped on HiroshimdgRImMaRiRIogara=afg R |
4 First nuclear reactor designed to harness atomic energ yRATS: ST HISUTNTRA & ¢ fgwngs fxaar mar ugen w=amy 8 2

Correct Answer :-

. First nuclear weapon dropped on HiroshimdgRiemr oz f2:7RT ugett u=am] fRuar|

21) Identify the pairs of atoms which can be called as isobars. / I=HTI] F 39 Sl ot ggaH , a9 awere (STETER) el S
ehll g1

22U and gy ThE! [ U TF g ThE!
1.
1CESS and CE7 [ 1,CISS T 1,Cl

15A% and xCa*® [ Ar% TF »Ca¥?

14315 and 5 P31 f 145830 L] 15 P2l



Correct Answer :-

'_gA.lA"" and ;«;.Ca‘* .'ljg_"‘.l"a W 3:C353

22) If ethyl bromide and methyl bromide are mixed in equal proportions and is treated with sodium in presence of ether, then the
number of possible organic products are .

e Qe TTgs ofk feet TTgs ol a9 srqura A7 2 metmar S @ ofR SR it 3u Ra 7 Ritsaw & gy Iu=n @ i
ST 8, at g e I & R Y T 2l

23) Small droplets of liquids or particles of solids dispersed in a gas is called: /
goh oA ufud of G gide a1 S & R heeld §

1. Gel /S

2. Emulsion /3# SFUE@E )

3- Foam [3TT

+ Aerosol /TIRIGA

Correct Answer :-

+ Aerosol /TIRIEA

24) The correct sequence of temperature on converting 288 K, 363 K and 346 K to Celsius scale will be , respectively. /
288 K, 363 K Td 346 K R & 79 o 7 U A T et TR ATUH T el 3 A ASM: , B
1. 25°C, 88°C and 66°C / 25°C, 88°C af 66°C

2. 250C, 950C and 78°C / 25°C, 950C 3R 780C
3. 15°C, 95°C and 75°C / 15°C, 95°C 3iR75°C

4, 150C, 90°C and 73°C / 15°C, 90°C 3R 730C

Correct Answer :-

+ 150C, 90°C and 73°C / 15°C, 90°C &R 730C

25) The number of atoms and molecules are generally represented in: /
uRAToLe A% srupst & & 19w @ sew Al ua i St @

1. Mole / ™317]

2. Formula mass g H

3. Atomic number ARATY] Hich

4 Atomic mass /ORHATIR

Correct Answer :-



« Mole/ ™3i7]

26) The number of neutrons present in an alpha particle is: /
TH ST THRUIA U o0d & T MIATE

1.4

2.3

3.2

4.1

Correct Answer :-

. 2

27) The number of molecules in 0.05 mL of water is: /
0.05 mL 5l 7 37Ul <:ehl § T

1.08 x 10

3.02 x 1033
2.

1.67 x 10%

6.022 x 10°%

Correct Answer :-

1.67 x 103

28) The isotope which is used in treatment of cancer is: /

& WFHIWER T I 2 I arern a9 s &

1.A s - 74

22C o - 60

31lodine-131 / @A &I-131

4N a -2 4

Correct Answer :-

« Co-60

29) The concentration of a solution can be increased by adding : /

Ueh f2:aera o1 Of 7 38 f:HeATehR SemT ST Uehdl &
1. Solute only /ehaferaera

2. Solution only /hafergera

3. Both solvent and solute femaesiReacaerat

* Solvent only /Ghafergaras

Correct Answer :-

. Solute only /e faer



30) The percentage composition of carbon in carbon dioxide is .
HTe T SIS 188 7 I 7 & deed di {asrdar 3,

1. 12%

2.27.2%

3.72.8%

4. 32%

Correct Answer :-

o 27.2%

31) Which of the following elements normally exist in liquid state? /

AfdEan = aa HIRUI: G 37 o1 A w{AE 9

1. Chlorine and mercury 1-TgamRenst
2. Todine and mercury SRV QHh<
3. Bromine and iodine /ffiudemida

4 Bromine and mercury /Hi-gemRe

Correct Answer :-

« Bromine and mercury =T T #Rend

32) Which of the following factors are responsible for the change in state of solid carbon dioxide when it is exposed to air? /
EATh G UF T 3 WRSIGHhE TSI53il [gShier UM T Iad =1eh (1:ed 1Al o @ad 8 g RS Trilg
i. Increase in pressure /QEH G

ii. Decrease in pressure / G190 | AT

iii. Increase in temperature / d4uH g

iv. Decrease in temperature / GleRs RG]

1.1 &ii only / Shael i T4 ii

2.1 & iii only / Shael 1 T4 iii

3.1i & iv only / Thael ii T iv

4. ii & iii only / Fae ii T iii

Correct Answer :-

o ii & iii only / haet ii Td iii

33) Which of the following is a homogeneous mixture? /
Ffagan daoda fmoaa@e
1. Ink / T8

2. Glass / &g

3. Brass / fiael

4. Milk / gg

Correct Answer :-



« Brass/diae

34) Which of the following correctly represents 540g of water? /
540 ™ 5 &l Al @ @a 7 @ & a8l & qmar g?

1. 3 moles of water / STeT & 3 THITILST

2. 20 moles of water / 5Te & 20 THITU[ST

3. 2 moles of water / STe & 2 TqG{UJ)Gﬁ

4. 30 moles of water / STeT & 30 THSU[af

Correct Answer :-

« 30 moles of water /Sief & 30 TH3U[3T

35) Which of the following pairs is the CORRECT example of isobars? /
fAfa@an @aﬁqmaﬁgrmmz‘cﬁaiw(aﬁmrﬂ%ﬁw%

?

. Hand 3H | IH W@ 3H

Ygand VB / WBwa B
3ciand ¥c1 | Berwd ol
Ar and 3Ca ! 324r TE BCa

Correct Answer :-

$84r and 3Ca / $34r T $Ca

36) Which one of the following statements is INCORRECT according to the Third law of thermodynamics? /
& adhids iR f:amds orgar Al @dw @ eaeyTrerds

!

?

1. At 0K, in a crystalline solid there is absolutely no molecular vibrations and hence its entropy is zero.dﬁﬁ,;[ﬁ? dsgA gour
T § IS 3Nforeh hu g gl 3R 3Req s9eh! g e Tt g gl &1 _
Entropy of a solution is not zero at 0K. / Ueh f:aera= Y g e Tdt, 0K R 8L &l K 8l

3. Entropy of a pure crystalline substance approaches zero as the temperature approaches absolute W g gery it e T
3L U I Sl & ST JATOH R 8 WR T T 81
Entropy of a super cooled liquid is zero at 0K. / g f3faffiaa @ &t gz Tdt, 0K wR gL it 21

Correct Answer :-

« Entropy of a super cooled liquid is zero at 0Ku# fafaffiaa adrge ™t , 0K o gL &t 81

37) Which one of the following statements is INCORRECT about liquid? /
fAfaEds TR g IR T Told &

1. Cooling is caused by evaporationsfideies a1 7 & hIRUT gidT &1

2. Change of substance from liquid to solid state occur only at a particular temperatug® T o @ o9 3[d AT H T IGd - had Teh
fashy aroEE wR g 21

Evaporation occurs below the boiling point of liquid /

3. a1 TR ach eTifoheigd A gar &1



4. Boiling point of a liquid decreases as the pressure acting over the liquid increaseSi@-S1& d UR &1 Id gaTd 7 g gt g da%
Uik H HHT 3T Bl

Correct Answer :-

« Boiling point of a liquid decreases as the pressure acting over the liquid increaseSt-919f IR P GIE H § gl 8, &
iR 7 HAT ST

38) Which one of the following hydrocarbons will have the minimum boiling point? /
ffaadges clemaa @ fxwam o A gm ,

1. Neopentane fAaig's

2. Isopentane /3TgEd =1

3. 1-Pentene / 187

% n-Pentane / ndq

Correct Answer :-

. Neopentane faid " =

39) Water vapour can be removed from air by. L

AT 4 ST aT @t
BT ST TehdT &1

1, fusion /& o1 T”I

5. partial diffusion / 3fifRreR frrgmRor _

3. passing it over a surface and cooled to a temperature below 0°€°/C & v aTa areft S Gdg & IW T Ok §

4. occlusion / feIYROT T

Correct Answer :-

. passing it over a surface and cooled to a temperature below 0°6°C & &8 qTUH aTeht S Tag & IR I TORA T

40) An element has an atomic weight 40 and atomic number 18, the number of electron, proton and neutron in it will
be , respectively. /

Teh I T ORATY] YR 40 Td IRATY] T 118 8, 399 3ot 14, MY g AR IT 73w gnfh
1.22,18, and 18/22, 18, 3R 18
2. 40, 18, and 40/ 40, 18, 3fk 40
3.18,22,and 18/18, 22, 3R 18
4.18,18,and 22 /18, 18, 3R 22

Correct Answer :-

. 18,18, and 22/ 18, 18,3fk 22

41) If 12 gram of carbon has x atoms, then the number of atoms in 12 g of magnesium will be: /
g 12 memag xum g, a 12 ™A 9 uxAmged ot 9 18
1.2x

2. 3x

v | =



Lk

x
2
4.

Correct Answer :-

42) Chlorine reacts with saturated hydrocarbons at room temperature in the ./

H HATKATIHH R T, G 815 TohTal = & Ty f3ify a1 ahealr 81
1. presence of water / Se1 &1 30 faq

. presence of HCI / Hcl 1 3T 3@

N

presence of sunlight / & & w1 3T A

w

4. absence of sunlight / 98 & @1 &l gy

Correct Answer :-

» presence of sunlight / I & HUH U A

43) 4
The formula for the compound formed between Pb™2 and PO4is:

Pb*2 ¥R PO % & &t 1ifdies & fore [ aamsd:
Pbz2(POs)s

Pb (POs)z
2.

3 Pbi(PO4)2

Ph2(PO4)2

Correct Answer :

Pba(PO4)2

44
) Correctand balance the given equation: /

few arv gt & w8 @ dafea SE:

Mg + H;O — MgOH + H

Mg+ H:0 —% Mg[OH); + H
1.

2Mg + 2H;0 — 2MgOH + H;
Mg + 2H;0 ——— Mg(OH): + H:
3.

2Mg + HiO ——»  Mg[(OH); + H;
4.

Correct Answer :-



Mg + 2H;0 ——— Mg(OH): + H:

43) In the following reaction, identify the oxidising agent. /

farafaf@a wfife &, Wedens &5 & ga= #i)
Znpg + FeS0ysy —— ZnS0y4,, + Fey,

1. Fe

2.7n

ZnS0,
3.

Fes0,
4.

Correct Answer :-

FeS0,

46
) Predict the product of the following reaction. /

frrafaf@a sfifea & 3cag & qEepn= aanse)

505 + H0 —» 7
L H;50,
5. H:5:05
. H,S05;
4 H;5:04

Correct Answer :-

H50;
47) Which of the following statements about Rutherford’s model of an atom are correct?
(1) Nucleus is a dense, heavy and positively charged part in an atom
(1) Confirmed that the a-particles are four times as heavy as hydrogen atom

(111)  Can be compared to solar system
(1v) Electrons are present at very close to the nucleus in an atom /

EIHE & Toh WA Alse & Avag # Fafe@a & @ i @1 503 7
(i) ATfHF T WA H T HOA, 9 TUT A= smer g
(i) W g g Fhr § & o FUL, FEIST WAN] F AW AT o Al @A &
(i) WX JOMET & FeraT Fr AT Wehclr &
(iv) U TA] H Folagid oA11eh F qgd HAa Hs[g giar &

1. Statements (i), (iii) and (iv) only /3daetee (i), (iii) TF (iv)
2. Statements (i) and (iii) only Aaerrae (i) T (iii)

3. Statements (i) and (ii) only Araetera_ (i) T (ii)

4. Statements (i), (ii) and (iii) only /aerrer (i), (i) Td (i)



Correct Answer :-

« Statements (i) and (iii) only ZraeT U (i) T (iii)

48)
The respective formula unit mass of CaCl; and K:CO; are:
[Given: Atomic masses of Ca =40u, O=16u, K=39u, C=12u, Cl =35.5u]/

CaCly 3T K:CO; & Hefild §F 9% UdATH #AT &
[ mar & Ca 7 9TA0] FeaAT = 40u, O FT AT FOATH = 16u, K FT AT Fe@AT =39 u, C
T GTATY] FeqATA = 12 u, Cl FT TATY] FeFAH = 35.5u]

1. 75.5u,99%u
2.75.5u, 138u
3.111u, 138u

4.111u, 99u

Correct Answer :-

. 111lu, 138u

49) : e
Identify the Al* jon from the figures where n and p represent the number of neutrons and protons. /
R 7 & AP 3a & GEATE F, 6 n U p HAW FIAl T leTAT 1 FEdr & e
& B
1.
2.



4.

Correct Answer :-

50)
The average atomic mass of a sample of an element X is 10.8 u. What are the percentages ofisotopes
YX and VX in the sample? /
TE dcd X & e &1 AT 9] SeEE 10.8u B A i waewfer VX 3R Ly
gfereraar & &7
Y X (80%) & LX (20%)
1.
UX(11%) & 1X(89%)
2.
VX (20%) & TX (80%)
3.
VX (50%) & 'YX (50%)
4.

Correct Answer :-
VX (80%) & X (20%)
Topic:- Maths

1) In two concentric circles of radii 4cm and 5cm with centre 'O', OA is the radius of the smaller circle. If P and Q are the points on the

larger circle such that PQ is perpendicular to OA at A, then the length of PQ is v

F O T4 TH RS IR R Tad T TgT i, OABR G M 1R1RTsdg 7 Pw@Qal flidgsa wrg i
PQ, A R OA & g dg, dt PQ & ars |

1. 8cm / 89#Ht

2. 12cm / 128
3. 10cm / 109

4. 6cm / 69HY



Correct Answer :-

. 6cm/ 635}

2) If the line 4x + 5y = 40 cuts the x axis at A and y axis at B, then the area of triangle AOB (in sq units) is: /
e 4x + Sy =40, x 3 &I A W3Ry &1 &l B R Fredt g, aF f: &t AOB @1 el aT( HE A N
1. 40
2.25

3.35

4. 20

Correct Answer :-

. 40

3) If the product of two consecutive odd integers is 323, then find quadratic equation is: /

{ T 3 323 8, af fi: ardia grfteor &t TdiEy;
1 x‘+3x-323=0
x*+x-323=0
2.
®-2x+323=0
3.

x42x323 =0

Correct Answer :-

W +2x323 =0

4) A card is drawn from a pack of well shuffled 52 playing cards. The probability that the card is black and queen is : /

Tagdw T m
Al s® 52 AR T eh A UehdTRIehTal Teh e TaT ISHhlehe =1 TaehdTTgehdTRIehTd TehTell
(¥ gk

7
13

O | =

5) ABCD is a rectangle. If AB + BC = 14cm and AC + BD = 20cm, then the length BC of the rectangle is: /

ABCD U 3mad g1 g AB + BC = 143t 3fR AC + BD = 2094, df 3maa 7 BC & 918 &:



1. Scm 5 @t
2. 8cm 8 &t
3. dem A Sft
4.9cm9 It

Correct Answer :-

. Scm/ &aHY

6) In a binomial distribution, the mean is 4 and variance is 3. What will be its mode ? /
qmﬁ:}qzaztm,m ®4FRUT 38| SR I Ak TTENT ?

1.5

2.2

3.4

4.6

Correct Answer :-

7) Inaright triangle ABC, right angled at B, if tanA = 1, then 3cosecA — 2secA = v
Al f“‘g@r ABCH,%BWW%,ﬁEtanAZ1,?ﬁ3cosecA—2secA:

1.0

2.1

8) The number of ways in which the letters of the word “DELHI” be arranged so that the letters E and H occupy only even places is
.

1 “DELHI" & a1 & iant et o g oud frear o Gendr g, ST SITE TG H dhad 99 UM W AW E |

1.18
2.10
3.12

4.6

Correct Answer :-

. 12

9) The radii OA and OB of two concentric circles with centre “O” are 9cm and 6¢cm, respectively. PA and PB are tangents to these
circles from an external point “P”. If the length of tangent PA to the larger circle is 12cm, then the length of the tangent PB to the
smaller circle (in cm) is !



% ‘O"aalds 171 <7 fl: 8 OATdOB, A 9 At ud 6 Afi 5 | T a1faig “P" A5 g1 idh g &1 @md PAGd
PB @ft wit Read g it a1 Far PASI domE 12 At &, At B g it 1 @ PB &l ofars (It 7)) 2l

N

L]

4.

10) The value of sin25 sin65-cos25 cos65 is: /

s$in25 sin65-cos25 cos65 <kl HIF &:

1.02.1

|G

Correct Answer :-

* 0

11) The quadratic equation which cannot be factorized into a product of real linear factors is: /
ﬁmﬁwﬁ:emmﬁaa%wwa?wn wqﬁ%mmm%
+d4x+1=0
x1-5x+6=0
®-3x+11=0

T4+ -4=
4 X X 0

Correct Answer :-
x-3x+11=0

12) Which of the following will have 6 in their unit’s place? /
g dflaad s d T w
6 gim?



Correct Answer :-
2341

13) The mean of 5 numbers is 399 and if one number is excluded the mean of the remaining numbers becomes 398, then the
excluded numbers is: /

sTTe A 399 @ ofik A ues G 1! gt g Sirar 8, at Q0w I Tef e A 398 gt smar &, et IS T T 8
1,403
2. 350
3. 399
4 423

Correct Answer :-

. 403

14) The co-ordinates of the foot of the perpendicular from (-6, 2) on the x axisis______ ./
x d R (-6,2) 47U & e ek gl

1. (2,0)

2.(0,2)

3. (-6,0)

4. (0,-6)

Correct Answer :-

. (-6,0)

15) The perimeter of a triangle is 20cm and if its two sides are 5cm and 8cm, then its area is: /

T i T g 20 Gt R auT R ggRr atoed S df ok 8 Jfi g, du s weA &:
15am?/ 15 TH?
24cm? | 24 THE

122 am? / 1247 &R
3.

. 1043 em? / 1043 TP

Correct Answer :-

103 em? /1043 HHE

16) The perimeter of a sector of angle 30° of a circle with radius 21cm is: /
219 1A TRy & 30° R F TH AT (FS) MU &

1. 60cm / 608t

5 53cm / 539

5. 32cm/ 329t

4 42¢cm /
4@



Correct Answer :-

o 53cm/ 539

17) A letter is chosen at random from the letters of the word "TRANSISTOR". The probability that the letter chosen is a
consonant is: /

g1 "TRANSISTOR" & 31 39 Ueh 7 AT hdl T IR framar Tl TfAd 1 T 1 @, 39eh! { TaehdT fiichas &:

18) If a sphere of diameter 8cm is melted and recast onto small spherical balls each of radius 8mm, then the number of balls
obtained is: /

e 8 @t 19 aret Uep et ot 1 ueretTen”
FAGTE:
1. 125

, g Tt fi: Taret BIE-BIe SR & TMell <@ YFA: FTel ST, A T g aret et Lxht

2. 110
3.250

4 200

Correct Answer :-

. 125

19) P(a, b) is the midpoint of the line segment joining the points A(7, k) and B(1, 1). If 3a — b = 10, then the distance AB

=—_/

P(a, b), TEsT wiaz, kPR B(1, 1) P Sie T a1 @ o af §ig 81 fag 3a-b=10, @& AB=__ |
1. 8cm / 83+

2. 6¢cm / 68y

45 cm | W/SEAT

2\,% cm | Ey"'ﬁﬂ?ﬁ

Correct Answer :-

2\% cm | Evﬁm



If fis an acute angle, then sec? &-tan? =7 /

afe 6 7 FT &, AN sec? 6-tan? 6=7

cot? f-cosec? &
1.

cos 6% sin 8

3 cos 8% sec &

sin #* tan &
4,

Correct Answer :-

cos 8% sec &

21 In the given figure, AABC is aright angle triangle. Definetan L C. |
& I ST #, AABC T RO AT #1 tan L C F sRenfEm HifTw)
A
B C

1. BC/AB

2.BC /

3.AC AB

4./ AC

Coéel%:t/ /?n(s;wer -
. AB/BC

22) 5
If the sum and product of zeros of a quadratic polynomial are é and % respectively, then the quadratic

pobmomial is: /

oM g @g9G & el & AT IR AR HHA:

b | L

RS & a e g &

2x?+5x-3
1.

3 + %
5. 3x2-5x+2

2x1-5x+3
3.

It -5 -2
4.
Correct Answer :-

. 2x!—5x+3



In the adjoining figure,
SP and SE are tangents froman

external point *S” to the circle with centre “O".

If £RSO=24" then «<PQR=___ ./

Horee pfa # spARSR, aew fig o' & & ©0' AW Ied W FRNEC B
afg «RSO =24, @1 £LPQR=___ |

%) Two lines AB and CD intersectat'Q’. If £BOCis 85', then £COA +£BOD =7 /

af W@t AB 1§ CD, “0" W wiowsRa g 1 ot «BOC= §5° §, @ £COA +4BOD =7
1.175°
2.170°
3.185°

4. 190°

Correct Answer :-

. 190°

25 . ;
) The distance berween theplanes x + 2y +z+2=0and 2x + 4y + 2z =515 =

Toll x+2y+z+2=00d 2x+4y+2z="5 & g H1 gq gl

[N



Correct Answer :-

26
) [ sec™ W xdx =7

xseclfx +4/x—1+C

xseclfx -Yx—1+C

xsechfx -4x+1+C

4 xseclyx +yx+1+C

Correct Answer :-

xsechfy -x—1+C

27 iz i 3 i i
) If the circumference of a circle is 14w cm, then the area of the quadrant (in am?) is i

afe vw goad &1 IR 140 G B, O SEF iy w1 aEwer (FHC ) Bl

1.52
2.385
3.77

4. 46.2

Correct Answer :-

. 385

29) Simplify: (32 - 2(27) 2 + (2)3/
wa vt ()7 207 @+ ()

4.



Find x, if logz x = -5. /
Iz logz x = -5, @ x AT Ffaw|

|

Ba| =

4.

Correct Answer :-

39 I wiangle ABC, AD divides ~BAC in theratio 2 : 3 and BD = AD. If
side BA is produced to E such that £CAE =115% then £ACB =7 [

e ABC #, £BAC # AD, 2:3 & I=[uid # faenfaa
Fcdl § @41 BD = AD 21 4 #5T BA & E &1 50 96K
faffg far ST % ZCAE=115'8), 39 ZACB="

1. 82°

2. 89°

3.78°

4. 95°

Correct Answer :-

. 89°

31)

If ‘a” and ‘b’ are rational numbers, then the values of ‘a’ and ‘b’ in:g;: ::::= a+b/7is:/

A 2" T b IRATFEIE B, =2 537 = a~by7 ' W b F A I e

x
',""i'z \-'?— 2

4.

Correct Answer :-

11 -4
) == ==
32)

If x =2 and x =- 3 are the roots of the polynomial f{x)=2x% +ax?-11x +b, thenthe values of'a' and b’
respectively are:/
TR x=2wdx=-3, g fx)=2x+axl-llx+b ¥ A7 & 97 2" wd b F A7 wAA §



1.6,-5
2.3,-6
3.-2,3
47150

Correct Answer :-

« 3,-6

33) (22)3 =7
1. 16

2.32

3.256

4. 64

Correct Answer :-

. 64

34) The area enclosed by the curves 3x* +5v =32 and v = x-2|
is o

Al 3xi+Sy=RNTWy=Ix-2 & agN < & gl

1. 32 sq units / 3237 gehrEaT

2 squnits / 2 gl

T squnits / 2 a9 sl

1—:5quuits fi—: adr sHIsar
4.
Correct Answer :-

Zsqunits / 3 a9 st

35)  Ifthe curved surface area of a right circular cvlinder of height 8an is 967 cm?, then its radius is: /
afg 8 ¥H 59 UF d gecild Aol B G eoId Ao 96n WA §, Ta FEehl B i

1. 2cm /2@
2. 3cm / 3 @ft
3. 6cm / 63}
4. 4cm/ 4 S

Correct Answer :-

. 6cm/ 6 aH

36) Find the next temm of the arithmetic progression /12 , /@8, /108 7 /
HHIAY ARG /12 ,+/48 , /108 &1 Il 95 adisue?



. V192

37) The value of "k’ for which the system of equations 2x+v—-5=0and 6x +ky-15=0
has infinitely many solutions is: /
k& 9 A S0F 6T THEwr FErr 2x+y-5=03R6x +ky-15=0 & Hddd: &5 5o
&

1.3

2.12

3.6

4. ?

Correct Answer :-

» 3

Simplify x3v2+ /{xy)? where x and ¥ are positive real numbers, /

xiy?+ 3 () F WA FL, Fal x T y TFHF aidias JE0 &)
1. Xy

]

E ]

5 v (x¥)
5 Vi)t
(xy)?

4,
Correct Answer :-

39) a 00
If A=|0 a 0| then |AdjA|=7/
0 0 a
a 0 0
o A=l0 a of A |AdjA|=?
0 a
9

1, e



ab
sl it il
40)  sin[sin~11+ cos 1-} =7
2 3
1.0
14248
5 €
VEIE
3. &
14+24E
_( 6 )
4.

Correct Answer :-

1+2V8
, 6
41) . 1 wh w?.n
If 1, w, w? are the cube root of unity, then (g2 1 oo | =7/
w" w1
: 1 @™ m:n
g 1, w,0?, T & B B, A 1 wh| =7
wh 1
1.0
2.1
(i
3.
m?.
4,

Correct Answer :-

* 0

) fem Rty = o
secxttanx +C
eMsecxtanx+C
JeBtanx+C
eftgecx +C

Correct Answer :-



esecx+C

43
) If 3 is one of the roots of the quadratic equation x*+ kx =3 =0 and the

equation K(x? + 2x)—m = 0 has equal roots, then the value of ‘m’

is sl

I, gfaard S e xi+kx +3=0 & Fell # § @ 7 3 §,
Td AT Kx? +2x)-m =0 & HA FA &, af ‘m” & AT
e

Correct Answer :-

. 4

44) mAPQR,PQ=PR. I #P=xand /Q =4x, then /P=7,
APQR#H, PQ=PR. A LP=xTd£Q=4x.al LP=?

1. 40°

2. 20°

3.25°

4. 30°

Correct Answer :-

» 20°

7. . ; ; ;
5 inits simplified formm is: /
y

VB 7 g w9 E

3

1.3
2.7

3.1
4.1

Correct Answer :-

* 3

46)
Vector form of the line whose equation is"r—;3 = % Ll i

@i "ie W, ﬁlﬂmm?=ﬂ—?& g

A

F=(1+2j-3k)+A(3i+j+k)
1.



, ¥=(3t+j+k)+a(i+2j+3k)

(3t +j— k) +a(i+ 2j + 3k)

T

I

. F=(31+j+k)+a(i+2j-3k)

Correct Answer :-
F=(3i+j+k)+a(i+2j-3k)

47) e = = % R S ~,
Projecionof a =21+ 3j— 6k onb =21 +j — 2kis ail
b=2i+j—2k W a=2i+3j—6k & WYl =

1. 19

15
21

4.

Correct Answer :-

48 :
) The value of 'k’ for which the numbers 1 + k, E-Hc. % +k areimGPis o

“«* & dF A E‘ﬁmﬂ?ﬁ‘ﬁmﬁi+k,z+hg+k{?ﬂm@#ﬁl

B e

e

4.

Correct Answer :-

49) If points A(1, 0), B(a, 3), C(2, b) and D(-2 , 4) are the vertices of a parallelogram ABCD, then the values of 'a' and 'b',
respectively, are, ./

e a1, 0), Ba, 3), C2,b) T D(-2,4) UHTAMIRIIYS ApcD & MW 8, g Ty HAM AI gl
1.5.,7



4.'331

Correct Answer :-

« 5,7

50) If the side of an equilateral triangle and the diameter of a circle are in the ratio 1: 2, then the ratio of their
corresponding areas is: /

S fL 9T 1 Ok T SR YH G A L2 F ogua @ g, @ I GEfd el it SrguTd g

Y3 :2n

Correct Answer :-
V3:4x



